4 3 31

R 317 4 30
66,881,000 50,365,920 4 3 22 755
66,500,000 4 4 4 12

22 165 73

91




(1)
(2) R3

(3)
(4) 7
(5)

(6)
(7)

(8) 12 104

(9)

(10) 3 3 4 1

http:/Aww.rinya.maff.go.jp/kanto/tisan/20140421 1.html
11

12
10 60

(13)
14

10 3 31 10 31



(1)

(2)

(3)

(4)

(5)

3 4
18 4 1
20
10 3 31
2
18 4 1
65

22 165

(2)

10 31
65

3,500

70

14 154
11 225

24 100

(4)

31 4 1 3 3 31

71



(6)

(7)

(8)

(9)

(10)

(11)

(12)

(1)

(2)

63

65

70 ) 48
115 )

116 ) 7
2

91 1

59

31

27

11

59

19

12

3

3

12

156

31
65

13

19

13



(3)

(4) (2)

(1)

3 (1)
3 (1)
30
(2)
30
30
(3)
1

100

(1)
3 (2)

(2)

6

(10)

100
30



(3)

(3)

184

w

(2)

13

11

27



(4)

(5)

CORI NS
(6)
(7) 3 (2)
(8)
2 (2)

(9)
(10)

16 7 29 16 2609
(11)

22 10 11



(12)

(13)

(14)
(15)

(1)
(2)
(3)
(4)
(5)
(6)

19

22




4 1 28

4 2 17




15

100 17 4 30 |@a,. 500G, 0001

73,000,000

73,500,000

73,800,000




-
\
I
\
I
\
l
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
\
\
I
\
I
\
I
\
I
\
I
\
I
\
I
\
|
\
|
A
|
i
|
y
|
A\
|
\
I

“.\'—\‘-\'—\-\_‘—‘_"—‘—‘-‘.‘“—.‘“\m\“\“‘-‘

i
\
|
|
!
!
!
|
\
|
N
!
!
!
!
!
!
!
!
|
|
N
|
!
!
!
!
!
!
!
!
|

b

M3 F K

¥

o=
‘ B

mOE.N

KpETE KE) % 7 & @l

Lt

T = &  SOFRRMRERELTERSHE)

I ERRERERTRERKERTHRER
| HEE 5 E A1 TLMAMDEES

BHEER BEGHEER
AHEEE XEANEES
BHEHLE KE

W, . — . . L L " I, "W . W, WU, . WL S WA WA WEEE W W W WL W WEMEL W WA W VEA. W A . em e e



) = —
SEREOHENRE
i [#38avsY—raubT | |
({8 , XEHNEEE
L=16.5m H=6.0m V=146.6m3 | XE
HA{fiNG B g AR <Fi% = | By | B H = %5 &
(I #E] 1.00] -
Iuh)—pk 146.60] m3
AARFEERT 80.80] m2
—hERI 8250 m?
KIRE AP 200mm) (1) 300 m
{RiEHE B 15.50] m2
KRR B {(11)) 740 m
ERi 3500 m3
i 129.00] m3
B R W | 62.00] m?2
128 3 R () 62.00] m?2
BEEaro)—bk 420 m3
mES R 3.80] m2
BEL ' 2500, ma3
R ARERT (1)) 1000 #%
THEE 8,723,000




==

'|||m

_ H. I=:}
2 |gagavsy—bBmikT |
(¥Ei8) REGHEES
 L.=19.0m H=6.0m V=142.9m3 AE
H{fiNo B e Rkt ik B | B {6 & & & &
[ T # & ] io0] ®H | '
ayy—k 142.90] m3
ARBERRT 89.80] m2
|—HEE : : 9530 m2
KIFE (D 200mm) (L) 240 m
{BiERE 12.80] m2
1 KARER () 710 m
FEiE ' , ~30.00] m3
iR 17800 m3
ERIFHIEER (L) 55.00] m?2
g R BB () 5500 m2
RS 1)~k 3.60] m3
CiEsisdi- 3.80] m2
PEEL-#h kI 80.00] m3
R4 o (dp 1.00] #
Tt : ' 9,155,000




HREONERN

EREE
[Z]

3 [Es2aus)—raET | _
(H8:&) REGHEES
L=18.5m- H=6.0m V=145.3m3 KE

Hi{fiNo B o fedk~t ik = | B | B M & %8 i *
[l L =] 1.00] £ ‘ _
= 14530 m3
AARBRFEEST 90.80| m?2
~— f B0 - 08.80] m?2
IR A E%( P 200mm) (1 240 m
bt =] 12.80] m?2
1 KAR S E (L) 710 m
AR ~ 145.000 m3
FEE.- 133.00] m3
ERIPH R {1 56.00] m2
BB E IR (L) 56.00] m2
=D 400 m3
HEL 12200 m3
1R LA (p 1.00] #% j
T i & ‘ 9,397,000




= | =1 1
EREBEDOHMEARE
4 R8T '
(#:&) KEGHEIEE
: _ AE
B {fiNo| N 3 AR <F ik 2 | B | B m| & 4 s &

[ M T 4~ 7| 12.00] TF&

br— L — B 1 EotiS] 1.00]

=L — BRIk 2tk ] 1.00] %

T LR WL E 2R 1.00] %

ga k[ EEHE [B] 900 m

AT EE 100 =

evbar—)RIB R E A 1.00] =t

FEEALLER (Al 100 =

P EES Btk if 4200 m3

BTy 0Bk 4200 m3

EERZEY LHE 42000 m3

HE{FER ' 1.00] =

SBIEHE 100 =t

I FEEr 9,376,000




5 |METESE mERSEE | |
(#E) REGWEHEE
- AE
B {fliNo 3 i Rk~ i%k = | BT | & {f & &8 R
WEE (ABBA BT RERE)
ISR R AT 200 =
EERBRENED 1.00] =&
Mt BIEAHLIFIREE) |
EELERERE 1.00[ = '.
it 6,419,000




XTI EEHERHNRE
T¥E4 aHRRHEEEABLIZERIMGEIE
_ . ‘ FESWEERE KE
B lNo Z B-L & B_E [ B | B (W % B wm_ =
1 B3mao ) —FRIET 100l & — 8,723,000
2 HLaE ) —bRIET 1.00 3 - 9,155,000
3 58091 —hRIET 1.00 B - 9,397,000
4 %L 1200 Ti&E — 9,376,000
AT ‘ 36,651,000
BiEIEE HBREE 1.00 =Y - 6,419,000
' W &t ' 6,419,000
N 1 43,070,000
BiETEE HETEE 1.00 % - 14,118,000
R 14,118,000
g ' 57,188,000
B EE B = 1.00 ® - 9,693,000
- 9,693,000
& &t 66,881,000
H B %R *ﬁ o 6,688,100
=1 6,688,100
[ 73,569,100




